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Blowing In The Wind

Bob Dylan (versie Mike Denver)

Arrangement
Rocky van schaik
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how maniy roads musta man wa-lk  down be-foreyou call him a man
how many years musta moun - -tainex- - ist be -foreit-is washed to the sea
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how ma-ny seas must a white do -ve sail be -fore she sleeps in the sail
how ma-ny years can some pe - -ople ex- - ist be -fore theyre allowed to be free
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how maimy times musta ca - -non ball fly be - fore they're fo -ev -er banned the
how ma-ny times can aman turn his  head and-pre -tend that-he just does-nt see
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ans-wer my friend is blowing in the wind the ans-weris blowing in the wind
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how many times mustaman look up be-forehe really sees the sky how ma-ny ears must
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one prison  have be -fore he can hear people cry how masniy deaths  willittake  tillhe
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know that toomany pe-ople have died the ans-wer my friend is blowing in the wind the
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ans-weris  blo-wingin the wind the ans-wermy friend is blo-wingin the wind the ans-weris
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